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sin (wgt ) ?;TEET@E
=5.28.

Since (4);_: 0, @f= 5.28

Note that Op is

measured from perigee
of the final orbit to
the rendezvous point.

An arbitrary altitude upon which to iterate Is then selected
for the waiting orbit. Launch vehicle data are used to obtain
corresponding time of ascent and ground range. Ariane data
are taken from figure 2-4:

o (kam ) 400 600 850
tuscanT (SEC) 370 500 850

X (km ) 600 1100 2800

For the initial iteration a,= 600 + 6378 = 6978 km is
selected. The waiting orbit parameters are then:

dw = 6978 km :

Tw = 5801 sec

iw = 99520 = l;,

8, = 0 :

Predict_the Tranzfer QOrbit Parametefg

As the transfer 1is between ¢ircular orbits and interception
is tec occur at tangency, the transfer orbit is Hohmann.

The radius of peéerigee ¢of the transfer orbit will be equal to
the semi-major axis o¢f the c¢ircular waiting orbit and the
radius of apogee will be equal to the semi-major axis of the
circular target orbit. Since the transfer is between circular
orbits and the point of rendezvous is at tangency of .the

transfer and final orbits, then Ce = 180" and the time
for the transfer will simply be half the transfer orbit
period, {For other orbits these parameters would be

calculated.)
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